

COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES
DE L'UNIVERSITÉ D'ANKARA

Série A: Mathématiques, Physique et Astronomie

TOME 20 A

ANNÉE 1971

Absolute Summability Factors of Infinite Series

by

NIRANJAN SINGH

3

Faculté des Sciences de l'Université d'Ankara
Ankara, Turquie

Communications de la Faculté des Sciences de l'Université d'Ankara

Comité de Rédaction de la Série A

F. Domaniç S. Süray C. Uluçay

Secrétaire de publication

N. Gündüz

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifiques représentées à la Faculté: Mathématiques pures et appliquées, Astronomie, Physique et Chimie théorique, expérimentale et technique, Géologie, Botanique et Zoologie.

La Revue, à l'exception des tomes I, II, III, comprend trois séries

Série A: Mathématiques, Physique et Astronomie.

Série B: Chimie.

Série C: Sciences naturelles.

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté. Elle accepte cependant, dans la mesure de la place disponible, les communications des auteurs étrangers. Les langues allemande, anglaise et française sont admises indifféremment. Les articles devront être accompagnés d'un bref sommaire en langue turque.

Absolute Summability Factors of Infinite Series

by

NIRANJAN SINGH

Department of Mathematics, Kurukshetra University, Kurukshetra, India

(Received 6. XI. 1971)

In this paper we have proved the following theorem which generalizes a theorem of Pati [M.Z. 78 (1962), 293-297] and also a theorem of Prasad and Bhatt [Duke Math. J. 24 (1957), 103-117]

THEOREM Let $\{\lambda_n\}$ be a convex sequence such that $\sum \frac{\lambda_n}{n} < \infty$. If

$$\sum_{v=1}^n \frac{|S_v|}{v} = O(\log n \mu_n),$$

where $\{\mu_n\}$ is a positive non-decreasing sequence such that

$$n \log n \mu_n \Delta \left(\frac{1}{\mu_n} \right) = O(1), \quad n \rightarrow \infty, \quad \text{then } \sum \frac{a_n \lambda_n}{\mu_n} \text{ is summable } [C, 1].$$

1.1. Let $\sum a_n$ be any given infinite series with partial sums s_n , and let $t_n = n a_n$. By $\{\sigma_n^\alpha\}$ and $\{t_n^\alpha\}$ we denote the n -th Cesàro mean of order α ($\alpha > -1$) of the sequences $\{s_n\}$ and $\{t_n\}$ respectively.

The following identity is well known [1].

$$(1.1.1) \quad t_n^\alpha = n(\sigma_n^\alpha - \sigma_{n-1}^\alpha).$$

The series $\sum a_n$ is said to be absolutely summable (C, α) , or summable $[C, \alpha]$, $\alpha > -1$, if $\{\sigma_n^\alpha\}$ is a sequence of bounded variation, i. e., if

$$(1.1.2) \quad \sum_n |\sigma_n^\alpha - \sigma_{n-1}^\alpha| < \infty.$$

Let

$$t_n^* = \frac{1}{\log(n+1)} \sum_{v=0}^n \frac{s_v}{n-v+1}.$$

If $t_n^* \in B.V.$, we say that $\sum a_n$ is absolutely Harmonic summable or simply summable $|N, \frac{1}{n+1}|$.

We write, throughout this paper, for any sequence $\{p_n\}$

$$\Delta p_n = p_n - p_{n+1}, \quad \Delta^2 p_n = \Delta(\Delta p_n).$$

A sequence $\{\lambda_n\}$ is said to be convex if $\Delta^2 \lambda_n \geq 0$ for every positive integer n .

If $\sum_{v=1}^n \frac{|s_v|}{v} = O(\log n)$, as $n \rightarrow \infty$, then $\sum a_n$ is said

to be strongly bounded $[R, \log n, 1]$.

The object of this paper is to prove the following theorem.

1.2 THEOREM 1. Let $\{\lambda_n\}$ be a convex sequence such that

$$\sum \frac{\lambda_n}{n} < \infty. \text{ If}$$

$$(1.2.1) \quad \sum_{v=1}^n \frac{|s_v|}{v} = O(\log n \mu_n),$$

where $\{\mu_n\}$ is a positive non-decreasing sequence such that

$$n \log n \mu_n \Delta \left(\frac{1}{\mu_n} \right) = O(1), \quad n \rightarrow \infty,$$

then $\sum \frac{a_n \lambda_n}{\mu_n}$ is summable $|C, 1|$.

It may be remarked that if we consider the special case $\mu_n = 1$, we obtain the following theorem of Pati [5]

THEOREM A. *Let $\{\lambda_n\}$ be a convex sequence such that $\Sigma \frac{\lambda_n}{n} < \infty$. If Σa_n is bounded $[R, \log n, 1]$, then $\Sigma a_n \lambda_n$ is summable $[C, 1]$.*

On the other hand, if we take $\mu_n = (\log n)^k$ ($k \geq 0$), then it is easy to see that our theorem generalizes the following theorem of Prasad and Bhatt [4].

THEOREM B. *If $\{\lambda_n\}$ is a convex sequence such that $\Sigma \frac{\lambda_n}{n} < \infty$ and $\sum_{v=1}^n |s_v - s| = O\{n(\log n)^k\}$, $k \geq 0$, as $n \rightarrow \infty$, then the series $\Sigma (\log(n+1))^{-k} \lambda_n a_n$ is summable $[C, 1]$.*

1.3. For the proof of this theorem we require the following lemmas.

LEMMA 1. [2]. *If $\{\lambda_n\}$ is a convex sequence such that $\Sigma \frac{\lambda_n}{n} < \infty$, then $\{\lambda_n\}$ is non-negative decreasing sequence and $\lambda_n \log n = O(1)$, $n \rightarrow \infty$.*

LEMMA 2. [3]. *If $\{\lambda_n\}$ be a convex sequence such that $\Sigma \frac{\lambda_n}{n} < \infty$, then $\Sigma \log(n+1) \Delta \lambda_n < \infty$, and $m \log(m+1) \Delta \lambda_m = O(1)$, as $m \rightarrow \infty$.*

LEMMA 3. [6]. *Under the hypothesis of Lemma 1 we have as*

$m \rightarrow \infty$, $\sum_{n=1}^m n \log(n+1) \Delta^2 \lambda_n = O(1)$, as $m \rightarrow \infty$.

1.4. **PROOF OF THE THEOREM.** By virtue of the relation (1.1.1) it is sufficient to show that

$$\sum_n n^{-1} |T_n| < \infty$$

where $\{T_n\}$ is the n -th Cesàro mean of order 1 of the sequence

$$\left\{ \frac{n \lambda_n a_n}{\mu_n} \right\} \text{ that is}$$

$$T_n = (n+1)^{-1} \sum_{v=1}^n \frac{v \lambda_v a_v}{\mu_v}$$

By Abel's transformation, we get

$$\begin{aligned} T_n &= \frac{1}{n+1} \sum_{v=1}^{n-1} s_v \Delta \left(\frac{v \lambda_v}{\mu_v} \right) + \frac{1}{n+1} \frac{s_n n \lambda_n}{\mu_n} \\ &\quad - \frac{s_0 \lambda_1}{(n+1) \mu_1} \\ &= \left[\frac{1}{n+1} \left\{ \sum_{v=1}^{n-1} s_v \left(\frac{v \Delta \lambda_v}{\mu_v} - \frac{\lambda_{v+1}}{\mu_{v+1}} \right. \right. \right. \\ &\quad \left. \left. \left. + v \lambda_{v+1} \Delta \frac{1}{\mu_v} \right) \right\} \right] + \frac{s_n n \lambda_n}{(n+1) \mu_n} - \frac{s_0 \lambda_1}{(n+1) \mu_1} \\ &= \frac{1}{n+1} \sum_{v=1}^{n-1} s_v \frac{v \Delta \lambda_v}{\mu_v} - \frac{1}{n+1} \sum_{v=1}^{n-1} \frac{s_v \lambda_{v+1}}{\mu_{v+1}} \\ &\quad + \frac{1}{n+1} \sum_{v=1}^{n-1} s_v \cdot v \cdot \lambda_{v+1} \Delta \left(\frac{1}{\mu_v} \right) \\ &\quad + \frac{n s_n \lambda_n}{(n+1) \mu_n} - \frac{s_0 \lambda_1}{(n+1) \mu_1} \\ &= K_1 + K_2 + K_3 + K_4 + K_5, \text{ say.} \end{aligned}$$

Now

$$\sum_1^m \frac{|K_1|}{n} = O \left(\sum_1^m \frac{1}{n(n+1)} \sum_{v=1}^{n-1} |s_v| \frac{v \Delta \lambda_v}{\mu_v} \right)$$

$$\begin{aligned}
&= O \left(\sum_1^m \frac{|s_\nu|}{\nu} \frac{\nu \Delta \lambda_\nu}{\mu_\nu} \right) \\
&= O \left[\sum_1^{m-1} \Delta \left(\frac{\nu \Delta \lambda_\nu}{\mu_\nu} \right) \sum_{\mu=1}^{\nu} \frac{|s_\mu|}{\mu} \right. \\
&\quad \left. + \frac{m \Delta \lambda_m}{\mu_m} \sum_{\mu=1}^m \frac{|s_\mu|}{\mu} \right] \\
&= O \left[\sum_{\nu=1}^{m-1} \left| \Delta \left(\frac{\nu \Delta \lambda_\nu}{\mu_\nu} \right) \right| \log \nu \mu_\nu \right] \\
&\quad + O \left[\frac{m \Delta \lambda_m}{\mu_m} \log m \cdot \mu_m \right] \\
&= O \left[\sum_{\nu=1}^{m-1} \left| \Delta \left(\frac{\nu \Delta \lambda_\nu}{\mu_\nu} \right) \right| (\log \nu \mu_\nu) \right] \\
&\quad + O [m \Delta \lambda_m \log m] \\
&= O \left[\sum_{\nu=1}^{m-1} \left| \Delta \left(\frac{\nu \Delta \lambda_\nu}{\mu_\nu} \right) \log \nu \cdot \mu_\nu \cdot \right] + O (1) \right. \\
&= O \left[\sum_{\nu=1}^{m-1} \log \nu \mu_\nu \left(\frac{\Delta^2 \lambda_\nu \cdot \nu}{\mu_\nu} + \frac{\Delta \lambda_\nu}{\mu_\nu} \right. \right. \\
&\quad \left. \left. + \Delta \lambda_\nu \cdot \nu \Delta \frac{1}{\mu_\nu} \right) \right] + O (1) \\
&= O \left[\sum_{\nu=1}^{m-1} \nu \Delta^2 \lambda_\nu \log \nu + O \left[\sum_{\nu=1}^{m-1} \log \nu \Delta \lambda_\nu \right] \right. \\
&\quad \left. + O \left[\sum_{\nu=1}^{m-1} \nu \log \nu \mu_\nu \Delta \lambda_\nu \Delta \frac{1}{\mu_\nu} \right] \right] + O (1) \\
&= O (1)
\end{aligned}$$

by lemmas 1, 2, 3 and the hypothesis of the theorem. Also we have

$$\begin{aligned}
 \sum_{n=1}^m \frac{|K_2|}{n} &= O \left(\sum_{n=1}^m \frac{1}{n(n+1)} \sum_{v=1}^{n-1} \frac{|s_v| \lambda_{v+1}}{\mu_{v+1}} \right) \\
 &= O \left(\sum_{v=1}^m \frac{|s_v|}{v} \frac{\lambda_v}{\mu_{v+1}} \right) \\
 &= O \left[\sum_{v=1}^{m-1} \sum_{\mu=1}^v \frac{|s_\mu|}{\mu} \Delta \left(\frac{\lambda_v}{\mu_{v+1}} \right) \right. \\
 &\quad \left. + \sum_{v=1}^m \frac{|s_v|}{v} \frac{\lambda_m}{\mu_{m+1}} \right] \\
 &= O \left[\sum_{v=1}^{m-1} (\log v \mu_v) \Delta \left(\frac{\lambda_v}{\mu_{v+1}} \right) \right] \\
 &\quad + O \left[\log m \mu_m \frac{\lambda_m}{\mu_{m+1}} \right] \\
 &= O \left[\sum_{v=1}^{m-1} (\log v \mu_v) \Delta \left(\frac{\lambda_v}{\mu_{v+1}} \right) \right] + O [\lambda_m \log m] \\
 &= O \left[\sum_{v=1}^{m-1} (\log v \mu_v) \Delta \left(\frac{\lambda_v}{\mu_{v+1}} \right) \right] + O(1) \\
 &= O \left(\sum_{v=1}^{m-1} \log v \Delta \lambda_v \right) + \\
 &\quad O \left(\sum_{v=1}^{m-1} \log v \frac{\lambda_v}{v} \sum_{\mu=v}^{\lambda_v} \Delta \frac{1}{\mu_{v+1}} \right) + O(1) \\
 &= O(1) + O \left(\sum_{v=1}^{m-1} \frac{\lambda_v}{v} \right) + O(1) \\
 &= O(1),
 \end{aligned}$$

by the hypothesis of the theorem and lemmas 1 and 2.

Next

$$\begin{aligned}
 \frac{m}{1} \frac{|K_3|}{n} &= O \left(\sum_{n=1}^m \frac{1}{n(n+1)} \sum_{v=1}^{n-1} |s_v| \nu \lambda_\nu \Delta \frac{1}{\mu_\nu} \right) \\
 &= O \left(\sum_{n=1}^m \frac{1}{n(n+1)} \sum_{v=1}^{n-1} \frac{|s_v| \lambda_\nu}{\log(v+1)} \right. \\
 &\quad \left. \frac{\log(v+1)}{\mu_\nu} \nu \mu_\nu \Delta \frac{1}{\mu_\nu} \right) \\
 &= O \left(\sum_{n=1}^m \frac{1}{n(n+1)} \sum_{v=1}^{n-1} \frac{|s_v| \lambda_\nu}{\log(v+1) \mu_\nu} \right) \\
 &= O \left(\sum_{v=1}^m \frac{|s_v|}{v} \frac{\lambda_\nu}{(\log(v+1) \cdot \mu_\nu)} \right) \\
 &= O \left[\sum_{v=1}^{m-1} \sum_{\mu=1}^v \frac{|s_\mu|}{\mu} \Delta \left(\frac{\lambda_\nu}{\log(v+1) \mu_\nu} \right) \right. \\
 &\quad \left. + \sum_{v=1}^m \frac{|s_v|}{v} \frac{\lambda_m}{\log(m+1) \mu_m} \right] \\
 &= O \left[\sum_{v=1}^{m-1} \log v \mu_\nu \Delta \left(\frac{\lambda_\nu}{\log(v+1) \mu_\nu} \right) \right] \\
 &\quad + O \left[\frac{\log m \mu_m \lambda_m}{\log(m+1) \mu_m} \right] \\
 &= O \left[\sum_{v=1}^{m-1} \log v \frac{\Delta \lambda_\nu \cdot \mu_\nu}{\log(v+1) \mu_\nu} \right] + \\
 &\quad O \left[\sum_{v=1}^{m-1} \mu_\nu \log \frac{\lambda_\nu}{\mu \nu + 1} \frac{1}{v (\log(v+1))^2} \right]
 \end{aligned}$$

$$\begin{aligned}
& + O \left[\sum_{v=1}^{m-1} \frac{\mu_v \log v \lambda_v}{\log (v+1)} \Delta \frac{1}{\mu_v} \right] + O(1) \\
& = O \left(\sum_{v=1}^{m-1} \Delta \lambda_v \right) + O \left(\sum_{v=1}^{m-1} \frac{\lambda_v}{v} \right) \\
& \quad + O \left(\sum_{v=1}^{m-1} \lambda_v \mu_v \Delta \frac{1}{\mu_v} \right) + O(1) \\
& = O(1) + O \left(\sum_{v=1}^{m-1} \frac{\lambda_v}{v} \cdot \mu_v \Delta \frac{1}{\mu_v} \right) \\
& = O(1),
\end{aligned}$$

by the hypothesis of the theorem. Also

$$\begin{aligned}
\frac{m}{\Sigma} \frac{|K_4|}{n} & = O \left(\sum_{n=1}^m \frac{|s_n| \lambda_n}{n \mu_n} \right) \\
& = O \left(\sum_{n=1}^{m-1} \frac{n}{\Sigma_{v=1}^n} \frac{|s_v|}{v} \Delta \left(\frac{\lambda_n}{\mu_n} \right) \right) \\
& \quad + \sum_{n=1}^m \frac{|s_n|}{n} \frac{\lambda_m}{\mu_m} \\
& = O \left(\sum_{n=1}^m \log n \mu_n \Delta \left(\frac{\lambda_n}{\mu_n} \right) \right) + O \left(\frac{\log m \mu_m \lambda_m}{\mu_m} \right) \\
& = O \left(\sum_{n=1}^m \log n \mu_n \Delta (\lambda_n / \mu_n) \right) + O(1) \\
& = O \left(\sum_{n=1}^m \log n \mu_n \frac{\Delta \lambda_n}{\mu_n} \right) + \\
& O \left(\sum_{n=1}^m \log n \mu_n \lambda_{n+1} \Delta \frac{1}{\mu_n} \right) + O(1)
\end{aligned}$$

$$\begin{aligned}
 &= O \left(\sum_{n=1}^m \log n \Delta \lambda_n \right) + O \left(\sum_{n=1}^m \frac{\lambda_n}{n} \right) + O(1) \\
 &= O(1),
 \end{aligned}$$

by lemmas 1,2 and hypothesis of the theorem. Lastly

$$\begin{aligned}
 \sum_1^m \frac{|K_s|}{n} &= O \left(\sum_{n=1}^m \frac{1}{n(n+1)} \right) \\
 &= O(1)
 \end{aligned}$$

Therefore, we have

$$\sum_1^m \frac{|T_n|}{n} = O(1), \quad m \rightarrow \infty$$

This completes the proof of the theorem.

1.5. Concerning absolute Harmonic summability factors Singh [8] has recently proved the following theorem.

THEOREM C. *If $\sum a_n$ is summable $|C, 1|$, then $\sum \frac{a_n \log n}{n}$ is summable $|N, \frac{1}{n+1}|$.*

From the above theorem we deduce the following result for summability $|N, \frac{1}{n+1}|$.

THEOREM 2. *Let $\{\lambda_n\}$ be a convex sequence such that $\sum \frac{\lambda_n}{n} < \infty$. If*

$$\sum_1^n \frac{|s_v|}{v} = O(\log n \mu_n), \quad n \rightarrow \infty$$

where $\{\mu_n\}$ is a positive non-decreasing sequence such that

$$n \log n \mu_n \Delta \left(\frac{1}{\mu_{n+1}} \right) = O(1), \quad n \rightarrow \infty,$$

then $\Sigma \frac{a_n \lambda_n \log n}{n \mu_n}$ is summable $[N, \frac{1}{n+1}]$.

Taking $\mu_n = 1$, we have the following theorem of Lal [7].

THEOREM D. Let $\{\lambda_n\}$ be a convex sequence such that $\Sigma \frac{\lambda_n}{n} < \infty$. If Σa_n is bounded $[R, \log n, 1]$, then

$\Sigma \frac{\lambda_n a_n \log(n+1)}{n}$ is absolutely Harmonic summable.

Acknowledgement. I am grateful to Dr. S. M. Mazhar for his kind help during the preparation of this paper.

REFERENCES

- [1] Kogbetliantz, E. G. Sur les series absolument sommables per la methods des moyennes arithmetiques, Bulletin des Sciences Mathematiques, **49** (1925), 234-256..
- [2] Chow, H.C. On the summability factors of Fourier series, Journal of the London Mathematical Society. **16** (1941), 215-220.
- [3] Pati, T. Summability factors of infinite series, Duke Mathematical Journal, **21** (1954), 271-284.
- [4] Prasad, B.N. and Bhatt, S.N. The summability factors of Fourier series, Duke Mathematical Journal **24** (1957), 103-117.
- [5] Pati, T. Absolute Cesàro Summability factors of infinite series, Mathematisch Zeit., **78** (1962), 293-297.
- [6] Pati, T. On an unsolved problem in the theory of absolute summability factors of Fourier series, Mathematische Zeit. **82** (1963), 106-114.
- [7] Lal, S. N. On the absolute harmonic summability of factored power series on its circle of convergence, Indian Journal of Mathematics, **5** (1963), 55-65.
- [8] Singh, T. Absolute harmonic summability factors of infinite series (Abstracts). Proceedings of Indian Sciences Congress Association Part III (1965) p. 12.

Ö Z E T

Pati'nin bir teoremini [M. Z. 78 (1962), 293-297] ve aynı zamanda Prasad ve Bhatt'ın bir teoremini [Duke Math. J. 24 (1967), 103-117] genelleştiren bir teoremi bu makalede ispatladık.

TEOREM $\{\lambda_n\}$, $\sum \frac{\lambda_n}{n} < \infty$ olacak şekilde bir konveks dizi olsun.

$\{\mu_n\}$, $n \log n \mu_n \Delta \left(\frac{1}{\mu_n} \right) = O(1)$, $n \rightarrow \infty$ olacak şekilde pozitif bir azalmayan dizi

olsun. Bu takdirde $\sum_{v=1}^n \frac{|S_v|}{v} = O(\log n \mu_n)$ ise, $\sum \frac{a_n \lambda_n}{\mu_n} |C, 1|$ toplanabilir.

Prix de l'abonnement annuel

Turquie : 15 TL ; Étranger : 30 TL.

Prix de ce numéro : 5 TL (pour la vente en Turquie).

**Prière de s'adresser pour l'abonnement à : Fen Fakültesi Dekanlığı
Ankara, Turquie.**